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Question Number : 1 Question Id : 39226614561 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding authors and books

i. Harold Joseph Laski a. A Mathematicians Apology

ii. E.M. Forster b. An American Dilemma
iil. Gunnar Myrdal c. A Passage to India
iv. G.H. Hardy d. A Grammar of Politics
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British rulers imprisoned freedom fighters like Yogendra
Shukla. Veera Savarkar. Brindakumar gosh in

1. Tihar Jail - Delhi
2 Cellular Jail — Port Blair
: 3 Yerawada Central Jail - Pune
4. Alipure Central Jail - Kolkata
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The national aquatic animal of India

L. Irrawady Dolphin

2. Godavari river Dolphin
3. Kaveri river shark
4. Ganges river Dolphin
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Arrange the following countries in an ascending order with
respect to their areas (in Sq. kms)

1. Vatican city, Monaco. Nauru, Tuvalu
2. Nauru, Tuvalu, Monaco, Vatican city
3. Vatican city. Nauru. Monaco. Tuvalu

4, Nauru, Monaco, Tuvalu, Vatican city
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The train which covers the longest distance in India is

1. Thiruvananthapuram-Silchar Aronai Superfast Express

2 Himasagar Express from Kanyakumari to Jammu &
Kashmir

3 The Dibrugarh — Kanya Kumari Vivek Express

4, Dibrugarh Rajdhani Express
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Display Question Number : Yes
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Ring Craft. Ring side. Climb words are related to this game

1. Tennis
2 Football
3. Hockey
4, Boxing
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Pradhan Mantri Mudra Yojana (PMMY) 1s a scheme
intended for giving

Pension to the people of above 60 years.

1
2 Scholarships to students who study technical courses.

b

Provide loans to small business and entrepreneurs

4. Housing loans for employees.
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The 51% G7 sumimit venue

1. Brooklyn. Queens. New York City

. South Bay, San Gabriel Valley, Los Angeles
3. Kananaskis. Alberta, Canada

4. Virginia, Maryland, Washington D.C
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This state stood first in Cocoa cultivation which is necessary
for chocolate industry

1. Madhya Pradesh

e Assam

b

Haryana

4. Andhra Pradesh
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The Madhubani painted handloom saree draped by the Finance
Minister during 2025 Budget session is weaved by

1. Padma Shri awardee Dulari Devi — Bihar
2. Mohammed Sirajuddin - Varanasi

Rukmini Devi - Kanjeevaram
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4. Ramamurthy - Dharmavaram
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This 1s NOT in the list of Industrial cluster started by World
Economic platform

1. Kakinda Industrial cluster
2 Gopalpur Industrial park

Mundra cluster
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: Visakhapatnam Green Hydrogen valley
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Display Question Number : Yes
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Padma awardee Kumudini Lakhia is an expert in this field

1. Research

2. Banking

3. Kathak

4. Social service
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The organisation that has designed pillars to travel
5 metro trains at a time for the first time in the world is

1. Chicago Metro Corporation

2! Yokohama Metro Project

Dellu Metro Project

4. Chennai Metro Rail Limited
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Question Number : 14 Question Id : 39226614574 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

When growing forests in Miyavaki method, trees are grown in
these many layers
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Options :
1. % 1
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3.3
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Question Number : 15 Question Id : 39226614575 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This Ongole breed cow costs 41 crores in an auction
conducted in Brazil

L. Nicotina - 5

2. Viatina - 19

3. Symbroder - 21

4. Shiguyan - 03
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Options :
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Question Number : 16 Question Id : 39226614576 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Libia Lobo Sardesai is related to
1. Libian Financial Sector

Harward Medical School

-2

L |

New Parliament building
4, Goa Freedom Struggle
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Section Id : 392266457
Section Number : 2
Section type: Online
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Number of Questions : 8
Number of Questions to be attempted : 8
Section Marks : 4
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266482
Question Shuffling Allowed : Yes

Question Number : 17 Question Id : 39226614577 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Identify the chronological order of education committees

a. Hunter Commission

b. Hartog Committee

C. University Commission
d. Sargent Commission
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Question Number : 18 Question Id : 39226614578 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Identify the correctly matched pairs

a. Idealism - Plato. Socrates

b. Naturalism - Spencer, Rousseau

C; Pragmatism - William James, John Dewey
d. Existentialism - Becon, Thoreau
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Identify the correct answer regarding Child Rights UNCRC

a. Article - 12 - Explains about Respect for the views of the children
b. Arficle - 19 - Explains about protection from all forms of violence
c. Article -23 - Explains about child labour
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The ability to accept a decision even if it is different from
one’s opinion is belongs to this type value.

1. Social value

2 Democratic value

LS

Family value

4. Moral value
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The main aim of Mid-day-Meal programme is to

a. Improve child’s nutrition

b. Provide employment to some people
¢ Improve children’s attendance

d. Increase enrollment in schools
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Display Question Number : Yes
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According to RTE — 2009 Act, Free and Compulsory primary
education will be provided to this age group children.

L. 0 — 6 years

2. 3 — 14 years

3. 6 — 14 years

4. 6 — 18 years
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Options:
1. % 1
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Question Number : 23 Question Id : 39226614583 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NEP-2020, each teacher will be expected to
participate in trainings at least these many hours in a year
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3 Hoben 35m Fomd.

L. 40
b2 30
;8 50
4. 60

Options :



1. %1
2. % 2
3.3
4. % 4

Question Number : 24 Question Id : 39226614584 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Civics should be replaced by the word Political Science’ is
suggested by
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4. NPE — 1986

Options :
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Section Id : 392266458
Section Number : 3

Section type : Online
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Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 8
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Sub-Section Number : 1
Sub-Section Id : 392266483

Question Shuffling Allowed : Yes



Question Number : 25 Question Id : 39226614585 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This age group is named as ‘questioning age’

1. Early adolescence
2. Late adolescence
3. Early childhood

4. Late childhood
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Display Question Number : Yes
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According to Bridges. the first emotion formed in a child is

1 Excitement
2 Anger
3. Distress

4, Delight
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Options :
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Question Number : 27 Question Id : 39226614587 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This is NOT a component of ‘Products’ in Guilford Model of

intelligence

1. Units

1.8 Classes

3 Relations

4. Evaluation

ﬂ&.’bg (B g E’%’ac‘gm‘éoéﬁi} ST ToSA
1. S5 eSen

2 gs¥ieien

i 2 P020TeD

4

sclmerbgo ES50



Options :
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Question Number : 28 Question Id : 39226614588 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following and identify the correct answer
1. Stanly Hall a.  Experimental schools
it.  Johannes Mullar  b.  Developed child study methods
iii.  John Dewey ¢.  Doctrine of specific Nerve Energies
iv.  Frobel. Friedrich d.  Child Nurture and Activity Institute
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Options :
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Display Question Number : Yes
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In this stage of Pavlov's experiment. conditional response 1s
elicited for conditioned stimulus.

1. First stage

2. Second stage

3. Third stage

4. Happens in all stages
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Novelty, Fluency, Flexibility are related to

L. Interest

2, Creativity
3. Habits

4. Aptitude
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Options :
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Question Number : 31 Question Id : 39226614591 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The word ‘Cognito’ in Latin means

1. Learmning
2 Logic
3. Knowledge

4. Thought
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Options :
1. % 1
2. % 2
3.3
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Question Number : 32 Question Id : 39226614592 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Intelligence Quotient of an average intelligent person is
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L 120 - 130

2 110 - 120
A 90 - 109
4. 130 - 140

Options :

1. %1

2. % 2

3.3
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Question Number : 33 Question Id : 39226614593 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Find the correct pair
L. Educational Determinism - Galton
2. On Memory - Ebbinghaus

Animal Intelligence - Stern
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The Process of Education - Piaget
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Question Number : 34 Question Id : 39226614594 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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[dentify the mismatched pairs among the following

a. Mean - Arthemetic average

b. Median - Highest value

g Mode - Value with least frequency
d. Standard Deviation - Measure of Data Dispersion
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‘Oedipus complex” means

1. Lack of mental health

2. Boys affectionate towards their mother
. 3 Hormone deficiency

4. Girls affectionate towards their father
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A 3 year old boy believes that moon 1s walking along with
him. According to Piaget it 1s

1. Naturalism

2, Animism

3. Ego centrism

4, Reversiblism
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Raven’s Standard Progressive Matrices is a / an

1. Aptitude test
2. Intelligence test
3. Attitude test
4. Personality test

OV3R) L0 (RS S |BS @088

1. e @“mgé NG
2. (PEe $9D
=
3 290 SrDH
4. mgmo% NGO
Options :
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A person got job opportunities in two famous companies at a
time. The conflict to join a job in this situation is

1. Approach - approach

2. Avoidance - avoidance
: Approach - avoidance
4, Dual approach - avoidance

2% 5532 2338 B A" Koo’ &Ko $0)0d. BIS”
SoreS moctidajoé}ﬁ SOR Hopoden.

ft

Gwied - &GN

5

DTG - DOIE
3. Gl - DI
4, {5?5 Gullodd - DOTE

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 39 Question Id : 39226614599 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

SWOT Acronym
SWOT &%), &0

1 System. Work flow. Operation. Technique
.4 Strategy. Work, Objectives and Targets

LS ]

Self-awareness. Wisdom on Thinking abstractly

4. Strength, Weakness. Opportunity, Threat

Options :
1. % 1
2. %2
3.%3



4.4 4

Question Number : 40 Question Id : 39226614600 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The word ‘Themes’ means

1. Content
3 Location
3: Story

4. Situation

1 DAd00
2. e
3=
3. 58
4. PO
&
Options :
1. %1
2. % 2
3.3
4, % 4
Section 4

Section Id : 392266459
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266484

Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 39226614601 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

> ePESTIOS' SDBE0 SrISTRIBOS” 2, 50.

—t

1. Etiaﬁ::‘é.f}g)_j a&ﬂ;dﬁ@%’fﬁ&

2: @J@"ﬁ m@aﬁémga“@;:
3. A& Jo%e ordxard
4. SPan 2)2.3:@

Options :

1. % 1

2. % 2

3.4 3

4, % 4

Question Number : 42 Question Id : 39226614602 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Saromen
1. ¥, o), gsseo, SR, £58%0, Koo
2. 8y >un|B¥0, ;§ESe0, TN, 87§80, o)
3. ¥ 90850y, 35580, Iin|Bo, oy, Yoo
4. 8y Pomw), FgESe0, AehHin, B0, Keyo
Options :
1. %1
2.% 2
3.% 3
4.v 4

Question Number : 43 Question Id : 39226614603 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“SrESh)c O 08 B)estY)
1) iﬁsﬁm&ﬂ?‘bﬁo A0 G

wdrﬁstﬁ{a*ﬁs@ BIS ST

R D§ oo B3 ISK0S".
1. oie 50
2. SO(PY|S FBE0
> &T“‘pﬁz]_i‘i’ ges¥0
4. 525008 §e3E0
Options:
1. %1
2.¥2
3.% 3
4, % 4

Question Number : 44 Question Id : 39226614604 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
QB00ENPHRD ERBIADT, o, ﬁmgd:’bﬁém“m 503
MB0BE0 B2 T (DaiTea0.

) (¥
2. 2P AT O
3. 5@5@5} 8355
4. mnjzsme‘_é &E@‘.’é
Options:
1. %1
2.v¥2
3. %3
4. % 4

Question Number : 45 Question Id : 39226614605 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

‘?;u;b’.g’ NoE2 EﬂgD

1. T 02
2 el IS
3 Sdoie
4 0RO
Options :
1. %1
2. % 2
3.%3
4. ¥ 4

Question Number : 46 Question Id : 39226614606 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

T Hodd @S@J%EG

1: %’“55;?::::?53 @’acﬁ@éoﬁﬁ)wcﬁa
Z. F8msn S0
3. FERKnoN S8oRETED
4. TEEOD (BHE0)ODI
Options :
1. % 1
2. % 2
3.% 3
4, ¥ 4

Question Number : 47 Question Id : 39226614607 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



RS0 FOKTI0N B3 Howodod 308 ;“?5955 %850
1: WESRY 505" DB ek B0
2. A0S Eevsgren' Do Sse
3. A TR TWEg 05Ed PHEFY B0 ©0SHT
4. 8% B’ DB Eor HOHLO

Options :

1.4 1

2. % 2

3. % 3
4. % 4

Question Number : 48 Question Id : 39226614608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

TR B3z HF0S) &S5

1 o°
2 )
3 &3
4 =
Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 49 Question Id : 39226614609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“WODEAS A& FSoRD S5 Desc
5,39 360 DAHoE”
R VST’ KOESTBY 908 B0

i ﬁeﬁcﬁaﬁa
2 SODCSAS
3 SRS
(L]
4 Yt esbloilnt
Options :
1. % 1
2. % 2
3. % 3
4.v 4

Question Number : 50 Question Id : 39226614610 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

2080 T mEREB0E.

e, gy 80 o). 50593"&};5“5@3
es. &, 8, & & 0 . 50@5&:3
3. J e . Eoﬁeig;ﬂa
B 6,86,86 86,8 & DrEaried
1 w-9a-83- 8-
2 ®-9,e8-0,3-,%-4&
3. ®-9,s8-4&3-2 B2-9
4. ®-d,e8-93- B:-8&
Options :
1. % 1
2. % 2

3.3



4. % 4

Question Number : 51 Question Id : 39226614611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

208 0S° BOToIH.

E T O - melaog e‘_%ie‘_%i:;a)tb?’-}. HETR0
2. moRding - t.a%. SEYER B0
3. KomeboKen - @ﬁadi:u ESE0)0R BITHO
4. 3‘@52 - %o3d SR VIR0
Options :
1. %1
2.9 2
3. % 3
4. % 4

Question Number : 52 Question Id : 39226614612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

208 FS° ¥TSO.

L Eﬂﬁﬁgﬂ - 11U
Z 20635500 - Uul
3. G ad0 - Ull
(o]
4. %ﬂﬁﬁgo - Ulu
Options :
1. % 1
2. % 2
3.¥3
4, % 4

Question Number : 53 Question Id : 39226614613 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

2080 ) =ERGT0E.

©. &) d. 17 ¥0SSYoe 00D 25 How

;5033:::% ne cdwsken
e B&) . 1108 16 ¥on 5650 Ko 2rdSen
3. &6 D. 17 ¥0$EIoe 00D 25 Hou

»A0R0) Ko clodeoen
s Bomd & 63008 10 Hone SAR) Ko wreoth
1. w-8& ea-93-2 8-
P v-8&as-893-2 S3-
3. -6 8-23-8 8-
4, o©-3,e-9,3-2, 8:3-6
Options :
1. %1
2.9 2

3. % 3
4. % 4

Question Number : 54 Question Id : 39226614614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

W PG HI0 KeibrEl B TS0

g M =i
1. &E'E‘Jﬁégg J°EQO
2. esBuyx 530
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Eﬂmmaggﬁ T

Options :
1. % 1



2.9 2
3.% 3
4. % 4

Question Number : 55 Question Id : 39226614615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

s o8 050 eSS0 Edﬂgﬁc” Bz Soeéen

L SoS%He SHBHad” e,
D, S BOHAS® OTED.
3. 5O GBS’ T
4. SoEHD SOEISE" T .

Options :

1. % 1

2. % 2

3.¥ 3

4, % 4

Question Number : 56 Question Id : 39226614616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
$aés BEW, 5533@5@'5@&3 - B3 P9 DED
: Goaren
z csﬂﬁjasl:a&‘?o‘éo
3. N DO
4, if@bn;j
Options:
1.9 1
2. % 2
3.% 3

4. % 4

Sub-Section Number : 2



Sub-Section Id : 392266485
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 39226614617 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
DOSYS TgESer DTS EY

1. OZraE aario 5E
Co M Co

2. BoRDdS ars d§
3. 555 z:'f"go?ob_
4. AcdB)S

Options :
1.%1
2. %2
3.¥3
4. & 4

Question Number : 58 Question Id : 39226614618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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- rarosdEses

1. ©, 3, &2
- A 3 &3, &
3. L3, &, ©

4, 3 &, o

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 59 Question Id : 39226614619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
at o -y o, = o
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%08 5?@@9} (KSOR B, e:éc53t::° Soe(¢8 ?JD"'&E’HD 50003
&,
=

S

Ju—
2
&
gi
=0
03
gL
e
]

o
4. dirESes Eﬁ%ﬂ@

Options:
1. %1



2. % 2
3.% 3
4.9 4

Question Number : 60 Question Id : 39226614620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

€, ot e e 5 w79 e,
mﬂm}z@o@e_: 89308 T e::émgi 2R e e;aaa&.

1. 553¢5
2. W >
3. qg.;}g
4. I3 éS e
Options :
1. %1
2. % 2
3.% 3
4, % 4

Question Number : 61 Question Id : 39226614621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“3&560?{065 30 2.8 IS8 &S ST IEH0” e
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4. D023 ?.ﬁ%ﬁ@
Options:
1. % 1
2.9 2
3.% 3

4. % 4



Question Number : 62 Question Id : 39226614622 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

NBrzEsre Kool “nﬁe:ﬁﬂseu
©. 3B oIRTII, SEST oFiS ¥0208005D
a g A, B e e
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Options :

1.9 1

2. % 2

3.%3

4, % 4

Question Number : 63 Question Id : 39226614623 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
AR Py Moo ¥ i g, Y — i ==
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Options :
1. %1



2.% 2
3.3
4. % 4

Question Number : 64 Question Id : 39226614624 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

98 Ko YhTren SBIS o8 SSToE HYLorr
FEINT0 05" o).

1.  ARergroo

2 ‘065"}{2\ SRS

3. (& sp0srd

4, ﬁ:#@&mocﬁ

Options :

1. %1

2. % 2

3.¥3

4. % 4

Section 5

SectionId : 392266460
Section Number : 5

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266486
Question Shuffling Allowed : Yes

Question Number : 65 Question Id : 39226614625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



What a delicious meal!
Choose the declarative form of the sentence given above.,

1. The meal 1s delicious.

1o

How delicious 1s the meal?

The meal. what a delicious one?

T2l

1. Is the meal delicious?

Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 66 Question Id : 39226614626 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
They will attend the conference.
Choose the negative question form of the sentence given above.
1. Do they not attend the conference?

2. Will they not attend the conference?

Td

Did they not attend the conference?

4. Won't they not attend the conference?

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 67 Question Id : 39226614627 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the adjective i positive degree from the following.

1. clear

-2

taller

3

b B Worst

4. shorter

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 68 Question Id : 39226614628 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Nobody can be perfect in anything.

In the above sentence. the word ‘nobody” is:

L. an independent pronoun
2; a demonstrative pronoun
3 an indefinite pronoun
4. a reciprocal pronoun
Options:
1. %1
2. % 2
3.3
4. % 4

Question Number : 69 Question Id : 39226614629 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



They for the bus when the accident happened.

Choose the correct verb form that fits the blank in the sentence
above.

1. are waiting
7.3 were waiting
3 had been wait
4, wait

Options :

1. % 1

2.9 2

3. %3

4. % 4

Question Number : 70 Question Id : 39226614630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

During his free time, Michael woodworking, crafting
intricate furniture pieces from reclaimed materials.

Choose the correct verb form that fits the blank in the sentence

above.
1 1s enjoying
2. enjoying
3 enjoys
4, will be enjoy
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 71 Question Id : 39226614631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



I was completely blind her faults.

Choose the preposition that fits the blank.

1. by
2. to
;3 at
4, m

Options :

1. %1

2.9 2

3.%3

4, % 4

Question Number : 72 Question Id : 39226614632 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

She ran towards the police station.

In the above sentence ‘towards’ indicates:

i direction
2. manner
3 method
4, purpose

Options :

1.4 1

2. %2

3. %3

4. % 4

Question Number : 73 Question Id : 39226614633 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the word with a silent t’.

1. tight
2 castle
3. fast
4. water

Options :

1. %1

2.¥2

3. %3

4. % 4

Question Number : 74 Question Id : 39226614634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the word that comes after the word ‘dog’ when the
words are arranged in alphabetical order.

1. cat
2 deer
3. done
4. dot

Options:

1. % 1

2. %2

3.43

4. % 4

Question Number : 75 Question Id : 39226614635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



women are cleverer than Ime1l.

Choose the option that fits the blanks in the sentence above.
1. The. a

2. The. the

3. A a

4. No articles are needed

Options:
1. %1
2. % 2
3.%3
4.¥ 4

Question Number : 76 Question Id : 39226614636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I bought half dozen mangoes.

Choose the article that fits the blank.
1. the
% a
3 an
4. No article 1s needed
Options :
1. % 1
2.2

3.% 3
4. % 4

Question Number : 77 Question Id : 39226614637 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“The Dear Departed” by Stanley Houghton 1s a

1. one act play
2. a narrative poem
3. nonfiction
4. science fiction
Options :
1.4 1
2. %2
3. %3
4. % 4

Question Number : 78 Question Id : 39226614638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The famous poem “Where the Mind is without Fear™ is written
by:

1. Sarojini Naidu

i Subramania Bharati
Rabindranath Tagore
4. Javed Akthar

Tad

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 79 Question Id : 39226614639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The following is NOT a characteristic of a well-written précis:
L clarity and conciseness

2. accurate representation of the original text’s main ideas.

(S ]

inclusion of personal opinions

4. proper organization and structure

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 80 Question Id : 39226614640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One of the purposes of the headline in an editorial is to
L. give a personal interpretation of a text

4 make an analysis of text’s language and style

fad

mislead readers to agree with the author

4. provide summary of the article

Options:

1. %1

2. % 2

3.%3

4. ¥ 4

Sub-Section Number : 2

Sub-Section Id : 392266487
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 39226614641 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the domain that focuses on the development of
interest. emotions. mental tendencies. and values of the pupils:

1. Affective Domain
2 Evaluative Domain
3 Psychomotor Domain
4, Cognitive Domain
Options :
1.41
2. %2

3. %3
4. % 4

Question Number : 82 Question Id : 39226614642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct definition of the ‘Syntax’ i relation to
language:

1. The study of word meanings.

2, The study of sound patterns

il

The study of sentence structure and word order.

4. The study of language change over time

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 83 Question Id : 39226614643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



One of the following is not the purpose of illustrating with
examples:

1. relevance
2 mntrusion
3. correlation
4, simplification
Options :
1. % 1
2.2
3. %3
4. % 4

Question Number : 84 Question Id : 39226614644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct description of a curriculum’s affiliation
with other programmes:

1. A curriculum operates independently of community
needs.

2. A curriculum 1s responsive to the needs of the
community

LS}

A curriculum 1s disconnected from student interests.

4. A curriculum has no influence on other programs.

Options :
1. % 1
2.9 2
3.%3
4, % 4

Question Number : 85 Question Id : 39226614645 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The following is an essential aspect of good handwriting:
1. Unstable
2. Complexity

Tad

Legibility

4. Overlapping letters

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 86 Question Id : 39226614646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the correct technique for developing confidence in
speaking English:

Focusing solely on written exercises

1
2 Encouraging learners to use their native language

L |

Discouraging learners from practicing clarification
strategies.

4. Creating an authentic practice environment

Options :
1. % 1
2. % 2
3.%3
4.¥ 4

Question Number : 87 Question Id : 39226614647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the primary benefit of using grammar games in the

classroom.

L. They underline the need for traditional teaching
methods.

2; They exclusively focus on reading and writing skills.

LS ]

They motivate learners and sustain their interest.
4. They only provide practice in listening skills

Options :
1. % 1
2. %2
3.3
4, % 4

Question Number : 88 Question Id : 39226614648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify which is NOT a type of teaching - learning material:
1. Audio aids

2. Visual aids

[ ]

Andio - visual aids

4. Oral aids

Options :
1. %1
2. %2
3.%83
4. 4

Section 6
SectionId: 392266461
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 24

Number of Questions to be attempted : 24

Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266488
Question Shuffling Allowed : Yes

Question Number : 89 Question Id : 39226614649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The values of the letters A. B in the following multiplication 1s

@D& onsEod® A.B 50O DenSen

AB

X 6

BBB
1. A=4B=2
A=4B=7
A=7.B=2
4. A=7.B=4

=

b

Options:
1. %1
2. % 2
3.%3
4.¥ 4

Question Number : 90 Question Id : 39226614650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The number of composite numbers upto 100 is
100 S8 He Hoddwl E{'JD@ES@ ‘aﬁoa:g

& 73

2. 74

= 7

h

4, 76

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 91 Question Id : 39226614651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

2L a e e

1 486
2. 485
3. 484
4. 483

Options :

1. % 1

2. % 2

3.%3

4. ¥ 4

Question Number : 92 Question Id : 39226614652 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The compound interest on T 12600 for 2 years at 10% per
annum compounded annually is

3 12600 % oée:égc:“?\}ﬁ 10% c.aci Béw 5"“@3‘\; 2 @Du&%ﬂ"@d
(‘53055916“)0“3 2.%¥ -0 quB @t‘:’ﬁ"é&a .ﬂc‘.}@ﬁ) e::m;s ﬁtfué

1. 32646
2 315246
3. <2520
4, T 2666

Options :

1.¥1

2. %2

3.%83

4. % 4

Question Number : 93 Question Id : 39226614653 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the TRUE statement
I All rectangles are squares
2. All kites are thombuses

All parallelograms are trapeziums

fad

4. All trapeziums are squares

Vg (D5 HB0wok.

1. &) figﬁ@:}cﬁ@“m SEY(Tren eHTTaw.

. Eﬂib e Déren ﬁ:ﬁ;ﬁ'iﬁ;fﬁaaﬁm €957)€5° 0.

3. Eﬂﬁb L Lle T el 1“:39:&3532)&1@3 ESILITe A 59‘_5;532)55&}3
2955700,

4, Hﬁb ¥abeoo 5@3&3wa SELY(Tren @HTraw.

Options :



1. %1
2. % 2
3.3
4. % 4

Question Number : 94 Question Id : 39226614654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Number of straight lines that can be drawn through two
distinct points in a plane 1s

L 0
2 |
3. 2

4. Infinite
2% 008" DO DEY) Hotbpe KHom RSy
RVETTpo ‘n’aoaaé

L 0
Ll 1
B 2
4. 2950650
Options :
1. %1
2.¥ 2
3.%3
4. % 4

Question Number : 95 Question Id : 39226614655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The ratio of each interior and exterior angle of a regular
polygon 1s 5 : 2 then. the number of sides of that polynomial is

2.5 |55 2vihe Bk (B8 9088 o iy Sere
SR8 5 1 2 wowd, & wirvgbRs Ko FEre Bogy

. 9

2. 8

L
-1

4. 6

Options :
1. %1
2. %2
3.¥3
4, % 4

Question Number : 96 Question Id : 39226614656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In AdBC,if AB=AC and ZC=40°, then Z4:/ZB=
AMBCS® AB=AC 508050 ZC=40° ©@cnsS L4:LB=

| 53
2 b R
3 35
4 2y
Options :
1. % 1

2.9 2
3.%3
4, % 4

Question Number : 97 Question Id : 39226614657 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

The length. breadth and height of a cuboid are (3x+ v).(x+ ¥)
and (2x—y) respectively. Then the volume of the cuboid 1s

2.5 DY P50 Bk, P&, StEe) B Jéed SO

Bx+ ). (x4 1) 00d» 2x—1) ©and fhg?.;’::;ﬁo SWLE

1. 6x’ =11’y =60 =2y

2. 6x° +5x°y=2xy" =y

3. 6x° +11x°y=6x" = 3°

= B Y g 3
4, 6x° = 5x’y = 6xy* =2y

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 98 Question Id : 39226614658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
56000000

ralue 1s

0.0000014
56000000
0.0000014
1. 4x 10"
2, 1.4x10™!
3, 4x107"
4. 4x10"

Options :

1. % 1

2. %)

3.%3



4.4 4

Question Number : 99 Question Id : 39226614659 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

2 5 :
If—p——ZSEhE‘IlpIS
3 i
L _2_3 0008 pJens
3
1 i
7
> #
24
3. —
2
4. —
24
Options :
1.41
2.% 2
3.% 3
4. % 4

Question Number : 100 Question Id : 39226614660 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the FALSE mathematical statements in the following
300 Ke3S (PIETS” BREESVD HYOBOE.

A (a+b)* = (a—Db) +4ab

B. at-b' = (a=D)a+ b)a® = b*)
C

4+ (a-b)x+ab=(x—a)x+Db)

i A.C
2 A.B
3, B.C
4. A B €
Options :
1. %1
2. % 2
3.3
4, % 4

Question Number : 101 Question Id : 39226614661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The class size of the frequency distribution with classes 7 - 12.
13-18.19-24and 25-30 ... 1s

7 - 12,13 - 18, 19 - 24, 508c50 25 - 30 ... SEKS00S" &)
éﬁﬁ:ﬁ.‘b_}ﬁé eTEH0 DY), SEHE P (H857e20)

i: 7

2. 75

6

4, 165

sl

Options :
1. % 1
2. %2
3.3



4. % 4

Question Number : 102 Question Id : 39226614662 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The order of rotational symmetry of a regular pentagon is
550 HOBLHE Book), [FS0ed e D0

1. 6

-
s

LA

&
2D,

4.

= -

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 103 Question Id : 39226614663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ABCD 1s a quadrilateral. BD = 15cm. the length of
perpendiculars from A’ and ‘C’ to BD are 2 cm and 3 ¢cm
respectively. then the area of ABCD in cm’.

ABCD =¥ Saotyeo, BD=15 200.0. ‘A’ 558d5» ‘C'e S0d
BD 2 A3 eozre PEHen SO0 2 0.2, 8din 3 Do.d.

wove ABCD ?ﬂ*ﬁr‘“@g&‘m 35.200.0. o8®

1. 15.5
2. 22.5
3 36.5
4. 37.5
Options :

1. %1



2. % 2
3.% 3
4.9 4

Question Number : 104 Question Id : 39226614664 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the each edge of a cube mncreases by 50%. the percentage of
its total surface area will increase by

RADPOTO Bok), (98 @0 50% DOAS HoFYSe e’
PG FEo

1 125%
2 225%
3. 300%
4, 400%
Options :
1.1
2. % 2
3. %3
4, ® 4
Sub-Section Number : 2
Sub-Section Id : 392266489
Question Shuffling Allowed : Yes

Question Number : 105 Question Id : 39226614665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“Mathematics is the Science of quantity” defined by
| 2 Auguste comte

2 Aristotle

Benjamin Peers

4. Bell

"HE3B08 IV TR0 @ ASDODTID

()

1. ey %)
=] [ ]

3. @aq;eag
3. BoR0s 5:355
4. 3S

Options :

1. ¥ 1

2.9 2

3. %3

4, % 4

Question Number : 106 Question Id : 39226614666 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The method developed by Friedrich Froebel

1. Kindergarten method
2. Montessor: method
3. Inductive method

4. Laboratory method
DEE | PFBSS ErPolosais 258

1. 20&8 B8 58
e &=

2: ;isboéiﬁba HEH
o
3. 37 oded ﬁg@
4,  (PBrhTe D58
2

Options :



1.9 1
2. % 2
3.%3
4. % 4

Question Number : 107 Question Id : 39226614667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Book ‘The Elements’ was written by

1. Pythagorus
2: Fermat

3. Archimedes
4, Euclid

B 0oLy (HossY
L. RERED
2. _Ebcr“&eg
3. e58), 3 P
4. i g&
Options :
1. %1
2. %2

3.%3
4.9 4

Question Number : 108 Question Id : 39226614668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Mathematician who used the method ‘Kuttakam’
1. Brahmagupta
2. Aryabhatta

Varahamihira

(S ]

4, Bhaskaracharya
KO &R DEBY &HBrRoDS KASTIDES
(5] o —
1. @J‘é’?&ﬁ.}é
2 Sl
3. Nlopre Vi Lle!
4 EJ“E@EJ_D"’{.'J""dg
Options :
1. %1
2.9 2

3. % 3
4. % 4

Question Number : 109 Question Id : 39226614669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This number 1s well known as Ramanujan number

oSS DopgT [HHE DOBT Howpg

1. 1992
2. 1792
3, 1729
4. 1719

Options :

1. % 1

2. %2

3.¥3

4, % 4

Question Number : 110 Question Id : 39226614670 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Inductive method was introduced by

1. Pestalozzi
8 Francis Bacon
3. Cominius

4. J.W.A young

237535005 DEAD DOSCEH0 TBHS I

&
L e
Ea
2. R TS
3. SENVHITS )
4, JW.A ol
Options :
1. % 1
2.9 2
3.%3
4, % 4

Question Number : 111 Question Id : 39226614671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In a domino. 2 holes are on one side and 3 holes are on the
other side then that domino is called

1. 2-3 domino

2 3-2 domino

- 2 b

3. A domino

4. % domino

2.5 SIS’ 253 2 Bolgren TOES I 3 Bolgren &o8s
&3 PAIK Bz IFOM DeoFLd.

fi 2-3 SF

o s My B
3. % WS
4, % = WS°

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 112 Question Id : 39226614672 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Arrange the steps in a sequential order to prepare a Scholastic
Achievement Test

a. Preparation of Blue print

=3

Weightage table preparation

Preparation of questions

a0

Preparation of scoring key
FES DA $a508S° FFr oo :.btimﬁ"moéﬁ &amt‘bo&

a. E:Jﬂ@:ﬁoégé_ﬁidi?ﬁ

2
b. e:ude% D3 i fortyts
c. (P¥o SaSrd

d. KE3es DAY a5 Dasd

1 b,a.c.d

2, ab.eb

3 o I

4, d ab.c
Options :

1.9 1
2. % 2
3. %3
4, % 4

Section 7

Section Id : 392266462
Section Number : 7
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 392266490



Question Shuffling Allowed : Yes

Question Number : 113 Question Id : 39226614673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The roots of aquatic plants are
L. Highly branched to absorb water.

2, Reduced in size hold the plant in a place.

LS ]

Deeply rooted in soil.
4. Strong and fixed 1 soil.
— — -
DD B0%), G0¥) W
1L %) Tpen SOR B Farnow.
2. D03re0d” DPIT &0b I0KH o T’
28 &owsrow.
3. NosWdd Sdomr FéHdForon.

4. OO &0S DOS Ecgﬁom &0LTPo0.

Options:
1. %1
2.9 2
3.%3
4. % 4

Question Number : 114 Question Id : 39226614674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The process of digestion completes 1n this part

b Stomach

2. Duodenum

1 Small mtestine
4. Large intestine

!_'Et L ad == %
ég@m "8, @Gg a0

1. Aor¥cio
£
2. &30(&:500°00
3. A @K
4. E @O
&
Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 115 Question Id : 39226614675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Find the oviparous pair

I Dolphin and Fish

2. Sheep and Buffalo

3. Frog and Lizard

4. Donkey and Hen

©O& EYEE BPo BED HYoS0s
L EO) dcin T

@ $o0cs» e

ﬁ‘aﬁg Nelolovth a:n%}j

oW

eSS Sddin 5%



Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 116 Question Id : 39226614676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These are NOT temporary houses

A. Tents
B. Caravan
C: Hut

D. Tiled house
30 o) 08 Ay 579

A Koores (8Bod)

B SETQ
& oo
D 20%Een
L
1 A.B
2 C.D
3 A C
4. B.D
Options :
1. % 1
2.9 2
3.%3
4, % 4

Question Number : 117 Question Id : 39226614677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
The Biological Nitrogen fixers are

A. Rhizobium

B. Blue green algae
. Leguminous plants
D. Yeast

B35 I Jrosren
s3]
A, DEDSH0
N SHF) FFeren

B
& 1‘,’)*‘;3&_6;3 L Ei.u:;ﬁb_e::
D

545
L. A.B
2. A0
o5 ABC
4. AR €D
Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 118 Question Id : 39226614678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The sebum secreted by sebaceous glands does not contain

1. Wax
2. Sterols
3 Hormones

4, Fatty acids

BASHS Hosde oo (©D0BES D20S° &K Sogeo

1 000
2 ?ocsﬁg“]
[ ]

3 ?.3555&5&:3

4 o8 esyien
Options :
1. % 1
2. % 2
3.% 3
4, % 4

Question Number : 119 Question Id : 39226614679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Respiratory organs in crocodile is

1. Gills

2. Skin

3. Trachea
4. Lungs

300OS° T 9585 T°e

1 33.}:’:3@.:;
2. 755&0
x @3?«35*@’0
4. &30 0B Ben
Options :
1. % 1
2. % 2
3. %3
4. 4

Question Number : 120 Question Id : 39226614680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Paper can be recycled
L, One time only
2. Up to two times only

5= 7 times

[N ]

4. More than 10 times
SASR) YT 56 Babsis)
1. 2538 Sr(Ed
2. B FY IEH Soogd
L
3. 5-7 3
Lo}
4 10 &8 ¥0&8 ) %
o2
Options:
1. %1
2. %2

3.3
4. % 4

Question Number : 121 Question Id : 39226614681 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The portion of the human heart that contains Deoxygenated
blood

1. Left portion
2. Right portion
Upper chambers

Tk

4. Lower chambers

SEd BWSTEO SOR &0t SIS 0% B, Ko
1. Al ttachle]

2. ¥&erRo

3. Fali{atow

4, 208 Kdoew

Options :
1. %1
2.¥ 2
3.%3
4. % 4

Question Number : 122 Question Id : 39226614682 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The minimum reading on laboratory thermometer 1s

PEPRTO Fom)WeHION EIY Jeoss

1. 0°C
2. 10°C
3. —10°C
4, 3595

Options :

1. %1

2. %2

3.3



4. % 4

Question Number : 123 Question Id : 39226614683 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Characters of the image formed by a plane mirror

i Erect. same size. virtual

2; Inverted. magnified. real

3 Erect. same size. real

4. Inverted. magnified. virtual

Do SB)0 S0 WES (HSNow0 BwY), ofrTen
L]

1. Lo ST IS LNTRGTo ING Mo To 513&5“5
s Seo20&en, ;5355\9‘_6, e
=
3 eI, PDalTmed D00, s
- E'_ n - -
4 g5 S0ceD, w@jéﬂeb, g.bGS"g
Options :
1.9 1
2. % 2
3.% 3
4, % 4

Question Number : 124 Question Id : 39226614684 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Ramu takes 15 munutes to reach school which 1s at a distance
of 0.45 km from his home. The speed of Ramu in mv/s 1s

1. 1 m/s

. 0.5 nvs
3. 3m/s

4, 6.75 nvs

TP 85 308 0& 0.45 3.2b.0 S80S Ko FEred
S8 15 ADoTre BT BT, ©o0S TP
Book). 56 ab./.08"

1. L
> 0.5 2o/
3. 3 /3
4, 6.75 2o/
Options:
1. ¥ 1
2.9 2
3. %3
4. % 4

Question Number : 125 Question Id : 39226614685 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The force that always opposes the applied force is
1. Magnetic force
2. Gravitational force

Frictional force

fad

4. Static electric force

905068 E.:&E'J""a.%n) Qgﬁ.ﬁj{:ﬁr ;:5?3@5503 2300

eaﬁ'&%‘&_ﬂiﬁ 200
Z; M&@Sﬁgm 2500
3. Eﬁ.}ffli‘a 2300
4. el Sc‘.ﬁosg 200
o -\
Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 126 Question Id : 39226614686 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An object oscillates 20 times in two minutes. Then its
frequency

2.8 535239 Bod WIS’ 20 K KoLoDS & P50

—

L. 33 Hz
2. 0.16 Hz
;) 10 Hz
+ 40 Hz

Options :

1. %1

2.9¥ 2

3.%3



4. % 4

Question Number : 127 Question Id : 39226614687 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The process of electric discharge occurs in this situation.
P When one cloud is present
Q. Between two clouds
R. Between clouds and earth
DeogS &d)go Bs VOEEY0S’ EIrHE0B.
P, 25 30300 &dydped
Q. Jok oo ;5.::65555
R. SoPreH, Hrdod mcts;é'ﬁ

iy PO
E G
3. R.P
4. P,QR
Options :
1. %1
2.9 2
3.% 3
4, % 4

Question Number : 128 Question Id : 39226614688 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the incorrect mode of communication in animals
L. Dogs wave tail — Visual communication

2, Baboons groom — tactile communication

LS ]

Wolves howl — Auditory communication

4. Waggle dance in bee — Chemical communication
20HPO LPSHEESHS’ HOSR ITTR) KHYOS0E.
1. Y e SED Sader - S arassﬁéégeﬁm
2. ooroe EogRERo® - ¥ aﬂ&i&ﬁﬁﬁdﬁ
3. ST e - (3 arusEste
4.  B38Ko TS TR - BB PESELYes
Options :
1.% 1
2. % 2
3. % 3
4.9 4

Sub-Section Number : 2
Sub-Section Id : 392266491
Question Shuffling Allowed : Yes

Question Number : 129 Question Id : 39226614689 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to Arrhenius, Science 1s

1. Measurement

2. Result

3. Process

4, Natural phenomena

@8 DD (P70 VePS(R0 58
oxe =

1. T 00
2 280
3. (&
4 oeIes C:iq)ﬂts‘ﬁ.iciﬁoo
Options :
1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 130 Question Id : 39226614690 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Number of themes in Science as per National Curriculum
Framework-2005

R L ]ove g (PeTR S0 - 2005 (H580 3&;&?@06‘5
BT DOPS

a
8 8
3. 9
4, 10

Options:
1. %1



2. % 2
3.3
4. % 4

Question Number : 131 Question Id : 39226614691 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the mismatched pair among the following

i Karl Van Bear — Embryo development stages
z William Harvey — Blood circulation

3. Johannes Gutenberg — Atomic structure

4. Louis Pasteur — Rabies vaccine

208 S’ KOS =S KHYOSOE.

1. Tg >5 585 - anm&;:igg SEen
2. o g —  EEHRTe
3. 551.’:”% B8 - e R)U“&mo
N
4. eTP0IT® i‘-‘fﬂg — oDR IS
Options :
1. % 1
2. % 2
3.% 3
4, % 4

Question Number : 132 Question Id : 39226614692 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Classification ability of a leamner is expressed by
1. Analyzing principles

2; Identifying similarities and differences between objects

(8]

Identifying defects in experiments
4, Asking questions for better understanding

@e,rnémgazjéﬁ Neltelac 053500 a8 Tj0° S{EPHE0B

s, e o T
1. Aol JFN0BEO
2. ISP 5oy FOSw, Brres HBOWES
3. P&rmred’ Sremd KH80HE0
4. TIPS oIS 500 [PRouEo
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 133 Question Id : 39226614693 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Opinions of four teachers on the teaching step of mind
mapping are as follows. Choose the correct opinion.

1. Conduct only in non-language subjects.

2. It 1s mandatory to conduct in every period.

3: Conduct during formative assessment.

4, Conduct only during the first period of every lesson.

20& ol & FGT FIT0 K80 Jewioth
éﬁ“@gdﬁm&: o Fdras 200 IGOM &INoW. TS
DT AT HHY0B0E.

L sy 7P @D AKoTd.

2. |98 20cHES” EH)I Ko roTd.

3. Aoyerds ¥ Mool ‘a’:otﬁtﬁboéﬁ 20T

4. PBFE(Y (U0 DOEHES” SIEDH Ao

Options :
1. %1
2. %2
3.%83
4. 4

Question Number : 134 Question Id : 39226614694 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Open-ended questions help to improve

1. Scientific attitude

1o

Critical thinking

LS ]

Open mindedness
4. Logical thinking
D5y BEY ( Open-ended ) (HHeo 8D oFoDOIEIE

EXDrEADET oD
L Rch 390
5 ISGTS esS5°5:5
3. DT &5353::50
4, 0.8 eSS
Options :
1. ¥ 1
2.9 2
3.% 3
4, % 4

Question Number : 135 Question Id : 39226614695 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The sum of tests conducted in all areas of a class or a course 1s
called

1. Examination
2 Assessment
3 Measurement
4. Evaluation

2. ¥ Eatb“] B SERASTY o) DAdireds :ch_sa:no:ﬁ DEA®
[0E) T W0ord.

1. e)d
[

2 080y

3. s L BTy

4 ;im@soﬁﬁo
Options :
1.4 1
2. % 2
3. %3
4, % 4

Question Number : 136 Question Id : 39226614696 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A device supplied to schools to teach by using internet. you
tube efc... 15

L. Digital library
2. Overhead projector

Interactive Flat Panel

b

4, AL network
308D, mémsf SOEBE J0SAEGBH ENBIA0E08

L

F°ES DAEIE FET0H BEIC" TeHES FSF0
1L &30S Bd

2. 36 wE (BE6

3.  000°33 TE IS

4. AoI8HE),

Options :
1. %1
2. % 2
3.¥3
4, % 4

Section 8
Section Id : 392266463
Section Number : 8
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266492
Question Shuffling Allowed : Yes

Question Number : 137 Question Id : 39226614697 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

Standard Meridian of India passes through this place
1. Bhopal. Madhya Pradesh
2 Mirzapur, Uttar Pradesh

Chennai. Tamil Nadu

(b

4. Siliguri. West Bengal
aPESETY (T SoredS TProF0 Bs |FP080 HOE 08008,

1L PS5, HEyeas

2. gyrs, &8RO
3. E@, EH T T D
4. RO, DB Domrd
Options :
1. %1
2.¥ 2
3.%3
4, % 4

Question Number : 138 Question Id : 39226614698 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Birth place of “Alakananda™ River 1s
1. Gangotri
2. Satopanth

Manasa sarovar

T4l

4. Kailash range
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According to the 2011 Census the states with the highest and
lowest population in our country

L. West Bengal - Goa
2. Uttar Pradesh - Sikkim
3 Bihar - Goa
4, Bihar - Sikkim
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The period of Neolithic Age was
1. 10000 BCE to 8000 BCE
2. 8000 BCE to 5000 BCE
3. 8000 BCE to 3000 BCE
10000 BCE to 6000 BCE
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The Kakatiya ruler who had the title “Mahamandaleswara’ was
1. Rudradeva
2. Mahadeva
3. Pratapa Rudra
4. Ganapatideva
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This tribe cooked food with the oil that was extracted from the
seeds of Sal and Mahua trees.

1. Khonds
2. Baigas
3. Mundas

4. Santhals
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Swadeshi Movement was known as Vandemataram
movement in this area

1. Coastal Tamil Nadu

. Deltaic Andhra
2l Maharashtra
4. Kerala
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Find out the correct statements regarding the Governor
A, Every State in India has a Governor

B. The President of India nomunates the Govemnor on the
recommendations of the Prime minister

E. Sometimes two or more States can have a single
Governor.
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Find out the incorrect statements about the structure of courts

in India
L. Supreme Court 1s the highest court of the Country.
z There are four different levels of courts in our Country.

fad

All other courts in India abide to the decisions made by
the Supreme Count.

4. High Court is the highest court at the State level.
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The President of the Constituent Assembly was
1. Dr. Babu Rajendra Prasad

2. Dr. B.R. Ambedkar

3. Sarvepalli Radhakrishnan

4. Jawaharlal Nehru
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Raja Ramumohan Roy founded the Brahma Sabha in this city

1. Bombay
2 Madras

3. Calcutta
4. Cuttuck
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Sudan experienced a population loss due to
1. Increase in natural deaths
2 Epidemics
3. Emigration

4. Calamities
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Identify the correct answer from the given below

i.  Racha polam a. The land with Irrigation facilities
ii. Thota polam b. Government land
iii. Veli polam c. Land related to orchads

iv. Adda pattu sunkam  d. Tax imposed upon flock
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Bezawada Wilson. a famous social reformer received this
award

1. Saraswathi Samman

2. Padma Bhushan

3. Raman Magsaysay

4, Padmasri
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He hailed from a Telugu family and was associated with the
Bhakti Movement

1. Sant Jnaneswar
2. Ramananda
3: Vallabhacharya

4. Madwacharya
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The Early Vedic Period was
1. 3500-2500BC

2. 2500-1500BC

3. 1500 - 1000 BC

4. 1000 - 600 BC
SIS sexHw
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2. (@ 2500 - 1500
3. (&% 1500 - 1000
4. (59~ 1000 - 600

Options :
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The method 1n which general principles are formulated from
specific things’ is

1. Deductive
2. Inductive

Analytic

Tl

4. Synthetic
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Rising genuine and realistic questions, Inquiring and finding
resources. Interpreting information and submission of report
on known concepts are the steps of

1. Debate Method

2 Discussion Method

LS ]

Inquiry Based Approach

4. Activity Based Approach
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This academic institution is authorized to give notification of
the concerned government to formulate the education plan for
elementary education under the section 29 sub-section (1) of
RTE - 2009
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2 NCERT
3. DIET

4, SSC Board
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A Teacher centered teaching method is

1. Discussion method
2. Project method

3. Story method

4. Activity method

& orgas SoQK SET 158

5 TJSG‘DD:-%@

A LY A Ty
.4 ) ag@
X R
3 oy ag@
o4 w
4, _,a)e:é'ﬂg@é :.ar:;:»@
Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 157 Question Id : 39226614717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Organising heterogeneous students groups and teaching the
same subject to different groups in the same classroom by
different teachers based to their abilities is

1. Alternative Teaching
2 Parallel Teaching
3. Individualized Teaching

4, Mutual Teaching
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This Education commission recommended that Social Studies
must be taught along with Mathematics and General Science

1. Secondary Education Commission - 1952
2. Kothari Commission
3. Ishwari Bhai Patel Committee

4. NEP-1986
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The abilities like classification. similarities — differences
comes under this Academic Standard

I Conceptual Understanding

N

Information Skills

Mapping Skills

Tad

L

: Appreciation and Sensitivity
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The most suitable method for expressing historical events 1s

1. Panel discussion
2. Dramatization
3. Symposium
4, Semuinar
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